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Michaela can finish 3 problems in 10 minutes. How many problems can she complete in 3 hours?

A.90
B. 54
C.18
D.9

Answer: B

Explanation:
We need to find how many problems Michaela can finizsh in 3 hours, so we start with

converting the 3 hours to minutes. Because 1 hour is 60 minutes, 3 hours is 3 % 60 = 180 minutes.

» 3 problems x problems » -
We can set up a ratio: —— === . To solve for x, we cross-multiply and divide: 10x =
10 minutes 1B0 minutes -

3(180).s0x = % = 54, Therefore, Michaela can complete 54 problems in 3 hours.

If 120 customers purchased coffee today, and this is iless than yesterday, how many

people purchased coffee yesterday?

A.90

B. 150
C. 160
D. 240

Answer: C

Explanation:
If120 isiless than yesterday’'s number, we can write thisas: 120 =y —ij', where v i=s

yvesterday's number. We combine terms on the right to solve: 120 = f}: soy =120 G) = 160,
Therefore, 160 people purchased coffee yesterday.

[f% =7 and% = 12, then what is the value of 5 — {7
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Explanation:
Multiply both sides of the first equation by 5 to get 3 = 7s. Then divide both sides by 7 to find
thats = % Multiply both sides of the second equation by t to get 4 = 12¢. Then divide both sides by

12 to find thatt = i, which reduces to ] % To find the difference, we must convert to a common
denominator. In thlS case, the cammun cleru:n mlnatcur is 21. Multiplying by appmprlate fractional
equivalents of 1, we find that - (3) ann:l { ] = 2— Therefore, s — £ = i —2'—1 = H

If the average of 7 and x is equal to the average of 9, 4, and x, what is the value of x?

Answer: B

Explanation:
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T+x :
—. The average of 9, 4, and x is —

s &

?+x_13+x
2 3

The average of 7 and x is 2ohE

To solve, start by cross-multiplying.
T+x)=2013+=x)
Then, distribute and solve for x.

21+3x=26+2x

ix=5L+2x

x=5
If a number is increased by 30% and then decreased by 25%, how does the final number differ from the
original?

A. It is 5% greater than the original.
B. It is 7.5% greater than the original.
C. It is the same as the original.

D. It is 2.5% less than the original.

Answer: D

Explanation:

We can choose a value for the original number and calculate the increase and decrease. For
example, we can let the original value equal 100. We increase this by 30% by multiplyving by 1.3
100(1.3) = 130. Then we decrease it by 25% by multiplying by 0.75: 130(0.75) = 97.5. This is 2.5
less than 100, and 2.5 out of 100 is 2.5%, so the final value is 2.5% less than the original.

Abram rolls a 6-sided die with each side labeled 1-6. What is the probability he rolls an even number or a
number greater than 4?
A

G b uana | Bagh |0

B.
C.
D

A. Option A
B. Option B
C. Option C
D. Option D
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Answer: B

Explanation:

The probahbility of non-mutually exclusive events A and 5 occurring may be written as
F(AorB) =P(4)+ P{B} P(A and B). There are 3 even numbers on the die, so the pr{!bﬂhllltj, of
rolling an even number i is — ~, There are 2 numbers greater than 4, so thlS probahbility i is < There isl
number, o, that is both even and greater than 4, so this probability is E‘ Thus, P{4 or Bj =< 242 ==

1 =

_ = _ 12
T

In the following figure, ifu_:

v %, then what is the value of b?

r

L 4

A. 60
B.72
c. 108
D. 120

Answer: C

Explanation:

The angles a, b, and ¢ form a straight line, so a + b + ¢ = 180. Substituting 150 fora + b + cin
. - N
the propoertion, we have PP Bv cress-multiplyving. we can sclve for b.

5b = 3(180)
b =108

A communications company charges $5.00 for the first 10 minutes of a call and $1.20 for
each minute thereafter. Which of the following equations correctly relates the price in

dollars, d, to the number of minutes, m (whenm = 10)?
A d=5+12m

B. d=5+12(m—10)
C. d=5m+12(m+10)
D. d=(m+10)(5+ 12)

A. Option A
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B. Option B
C. Option C
D. Option D

Answer: B

Explanation:

The charge is $1.20 for each minute after the first ten minutes. The number of minutes after
the first ten minutes is m — 10, so 31.20 per minute charged for the part of the phone call exceeding
10 minutes is 1.2(m — 10). Adding this to the 35.00 charge for the first ten minutes givesd =5 +
1.2(m — 10).

If an item with an original price of $25.98 is marked down by 25%, and a coupon for 20% off is
additionally applied, what is the final price?

A.$19.49
B.$17.77
C. $15.59
D. $13.28

Answer: C

Explanation:

An item is first marked down by 25% and then by an additional 20%. If 25% is taken off the
price, the remaining cost is 75% of the original price, so we can calculate the first markdown:
25.98(0.75) = 19.485. If 20% is taken off this price, the remaining cost is 80% of this price, so we
can calculate the second and final markdown: 19.485(0.8) = 15.588. We round to the hundredths
place to find the final cost: $15.59.

If the ratio of the measures of the three angles in a triangle are 2 : 6 : 10, what is the actual measure of
the smallest angle?

A. 20 degrees
B. 40 degrees
C. 60 degrees
D. 80 degrees

Answer: A

Explanation:
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The sum of the measures of the three angles of any triangle is 180 degrees. The equation for
the sum of the angles of this triangle can be written as 2x + 6x + 10x = 130, or 18x = 130.
Therefore, x = 10. We multiply 2 by 10 to find that the measure of the smallest angle iz 20 degrees.
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